XmMin Sec .

Arrange —m%? -2.32, I.i l.(}i 115’- in ascending order.

Solve - ;; < 4 and sllustrate the solution on a number line.

Nunber line

(1]

It is given that A=2"»3" x5 and B=12" x3" « ¥ « 7. Giving your answer in index
notation, write down

(a) theHCFof Amd B

g ) RN | |
(b the LCMof Aand B

Find the gradient of the ling / shown below.




3
Evaluate the following.
15 | . | 2
12—=x|1=+5=|+| -2=
@ 7 ( 3 2) ( 5]
AswWer {d) viovivsmusssmisvssvsisensise [1]
3 152 + 3
(b) —2-0—, giving your answer correct to 2 decimal places.
-7
Answer (b) co.oovvevciiiiiniiiiiiiiiinn [1]

Raju cycles y km in 4 hours. If he maintains the same average speed, how many km
can he cycle in x minutes?

Given that C = 2° x 3% x 57, find the smallest integer k that will make kC

(a)  asquare number,

Angwerda) K= o s (1]

(b) aperfect cube.

Answer (BYk= ..ccooiiiiiiiiiiiiiin, k]

[Turn over
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Evaluate the following.

@  (5.12-123F +[-4.21+(-1.45)]= (- 2+ 5), giving your answer to the
nearest integer.

AREWEP L) o vsissimesnsasimibeiebins [1]
2
(b) [-;i) x [% - 21_15) -—(— %-;g + 1%} +3/47.5, giving your answer correct to 3
significant figures.
ASWEr Al suvessmsupmmnernresssos [1]

Three bells toll at regular intervals of 20 minutes, 30 minutes and 15 minutes.

(@)  Given that they toll together at 3.15 p.m., find the time they will next toll
together.

(b) If there was a fourth bell that tolled together with the first three bells at
3.15 p.m., what must be the minimum interval at which the fourth bell tolls
such that the four bells will next toll together at 5.15 p.m.?

B} L300 o ;) R — min [1]

Oranges cost 14 cents each. Amy has a $10 note and wishes to buy as many oranges
as possible. Calculate

(a)  the number of oranges that she can buy,

(b)  the change that she will receive.

BP-229
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12

13

(a)  Express, correct to 1 significant figure,

() 4.879,

Arewer (aX1) s s snsnpesvss [n
(i) 39.61.

Answer  (i1)..ococviiiiiniiiiiiinnn, [

(b)  Use your answer in part (a) to estimate 4.879 + 39.61.

Amawer ) ;v nemesmsaen [1]

lfa=_c"“' e——d gﬁndihena=33b=_2:c=81d=_3’e=—5 andf=4'
b f+g

AFEWEP B covinnah sinisass s imimmiis (3]
Factorise the following completely.
(@)  45am+15a°m’ +5a°m
HARSWEP () zooumuiimsvenpsssssinns sy nais [1]
®  2x(y+2)-4w(2+y)
Answer (B) ..coooovviiiiiiiiiiiii, [2]

[Turn over
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14 A man bought a total of 30 books.
x books cost $18 each and the rest cost $3 each. If he spent $165 in all, form an
equation in x and find the number of $3 books he bought.
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15 (a) Expand and simplify 4(3a—26)-5(3a—-4b+2).

ArSWerdB) cosssnsumvsmsswmmnsser [2]

x+3_2(x+5)+3(x+1)

b E
(b) Xpress 6 2

, as a single fraction in its simplest form.

Amswer {8 iucsvvvassivsireen sorvrans [3]

16 Solve the following equations.

[Turn over



BP-~233

(a) Tx+5=2x-15

Answer (@) x= ..ccoiiiiiiiiiiiiiie [2]

10x+3+2x=%

() -

Answer (b) x= ..o, [3]



17 (a)

(b)

©

Expand and simplify %{Ga -2 [% a- 4!))} !

Arawer{@) ooy 2]

Ali bought 4 shirts at $x each, m shirts at $15 each, (3m+2) shirts at $10 each

and half a dozen shirts at $2x each. Find, ir: its simplest form, in terms of x and
m, the total cost of the shirts he bought.

Answer(hY 8. .cocmvmvessssarsviaves (3]

~

e ,wherex=—5andy=%.

Evaluate, without using the calculator,

[Turn over
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10

Answer the whole of this question on a sheet of graph paper.

(a)

(b)

(©)

(d)

It is given that y =2x+3. Copy and complete the table below. 2]
x =2 0 3
y 3

Using a scale of 2 ¢cm to represent 1 unit on the x-axis and 1 cm to represent
| unit on the y-axis, draw the graph of y =2x+3. (3]

Using your graph, find
(i) the value of x when y = 0.7, [1]
(ii)  the value of y when x =2.6. [1]

The total cost of renting a badminton court can be represented by the

equation y = 2x+3, where 3y is the total cost of rental and x is the number of
hours rented.

(i) Explain why the graph is irrelevant for x<0. 1]

(ii) What does the coefficient of x represent? (1]

End of Paper
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Answers :

3a.
3b.

Sa.
5b.

7a.
7b.

8a.
8b.

9a.
9b.

10a.
10b.

11ai.
11aii.

11b.

12.

13a.
13b.

14.

15a.
15b.

16a.

252, 2L 1021113
2 5

x=-12

2% % 3% 3
27 x 3%x 5% x7

2

31

385
4.68

240

10
6

15
-4.47

16 15/4.15 p. m.
8

71
6 cents

5
40
1
8

33
7

Sam(9+3am+a)
2(y+2)(x—2w)

25

~3a+12b-10
17x+7

12

—4

BP~236
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i6b. -—

18
17a. a+§-b

3

17b.  16x+45m+20
i7c. -12.5
18a. -—1,9
18i. —1.1
18cii. 8.2

18di. Irrelevant because cannot rent for negative number of hours
18dii. The cost of renting for 1h/gradient of line
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